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The figures in the margin indicate
full marks for the questions.

1. Answer the following as directed: 1x10=10
et framaRe o Spie el fr ¢

(@) Industrial relations are not dependent
on human resource policies.
(Write True or False)

Tl ST=7=F e oW F1Neq Go< (o 1e
2 | (351 @ [l [e731))

(b) Trade Unions are temporary combintion
between workers and the government.
(Write True or False)

Contd. -



=3 FRAER (202 = S b<pis Szl e |
(el ¢ 3=y f7730)

(9)

Who among the following is known as
the father of trade union movement in

(c) Collective bargaining is a process of India ? (Choose the correct answer)
negotiation between the employees and 0SB T T [OOTS (i G & SIS
the representatives of t.he employers. (GG 2RI SR G 2510 2o ?

(Write True or False ) (¥% ©GCh! AR Cle1 )

AR T (=R MRS Siiss =i () Bal Gangadhar Tilak

ISOIEE RS CRERIRIGIRIS zlm , i slesliea Fomr

el o g =y ¢ gl fe711) i) N.M. Lokhande
ack of job security is an sc of
labour turnover 11 an organisa;iﬁ_ . 3L CEIRICS
: (Fill in the plank) (iii) Wadia
BB aﬁ; TS wifis AR el

Ageag @6l l (157 35 o ) (iv) None of the above

(¢) A domestic enquiry jg _ - 82[Fq BIe 2F
investigation conducted n internal :
addregs issues that bg the _to (h) A strike or lockout is illegal when it is
e loymen . (Fil?Se during commenced in contravention of section

. A n the blank) of the Industrial Disputes Act,
T4 ONS (07 TP S e 1947. (Fill in the blank)
ST A 5 R i -
TP PTRS SReSet o Y589 R e R wizeq R 4R
_ (X155} 315 o7 1) Teicq] 1 4FD 3] TTRSNTT SRS FIACe 2 S |
(f)  Alockout without Prope. (‘Wﬁl‘ﬁﬁ@)

Write "1Otjce s legal.

"ue or False) (i) Workers’ participation in management

S T SIAEC SIS [ | is an important form of non-financial
(55 incentive to the workers.

TR ey A= ) (Write True or False)
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AfDTers Wiy igkiazd «f o e

SR Sroiff o wargal et |
(7= ¢ 1371 Tere) =)
(i) Mention the principal organs of the ILO.
ILO I 4N S90S 41 | '
2. Answer the following in brief : 2x5=10
oot fAICARE b Gew fian ¢
(a) State two distinct features of industrial
relations.
SCOIPIP T 757 i tafiey Srmd <= |
(b) Why does an individual join a trade
union ?

e IfEE =i ARy ore By WIS T 2
(c) Whgt are tht_a Feasons of misconduct or
Ind1sc1p11ne N an organisation ?

B! PRI SIS S 3 el el v g
(d) Define ‘Industrig]

‘ Dis > und
Industrial Dispyteg pute’ under the

% Act, 1947. 7
Srifie Ram siizg S5899 IFIT® Crifrs

@) Discuss brieﬂy‘ the g;

me‘{q
B SN St |
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Answer the following questions in short : {any
four) - o9x4=20

were WAIRRE Ses o7 ¢ (ferzan s1161)

(@

(b)

(¢

(d)

()

Explain the role of employer and the
State in maintaining smoth industrial
relations.

T2 T T4 q@iE IS FEses! o
AT el 76 <5

Briefly explain the situations under

which the Registrar of Trade Unions may
cancel the registration of a Trade Union.

(GG STHIT AGRE (5O TTHTE 716 1= iee
R~ AT R 5o o1t <541 |

Explain briefly the reasons for failure of
Works Committees.

FATOTZE [REFeTOR ST b3 IRl |

Explain the reasons of employee
absenteeism.

TGS SgifEfon SerER gai2 |

Discuss the conditions of layoff under
the Industrial Disputes Act, 1947.

i @M Wiz 35899 WS bRy
SO RACH ST 51 |
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Discuss briefly the provisions of the
Industrial Disputes Act, 1947 in regard
to closure of an undertaking.

&1 Griel TF FHR Ao Sl KA S
s»8a RIS RE 530 S0l 1 |

Answer any four of the following questions :

10x4=40

wore Al 24T sl sifabie Ses ¢

(@)

(b)

(c)

Discuss the various objectives of
industrial relations and the factors
affecting it in the changing

environmental conditions. S5+5=10

Toilee A=A [Jfen Sl i offfefss
Tl SRR siREes 2w eite o=
IR A el 641 |

Discuss the origin and growth of Trade
Unions in India.

ST (GT 2GS Teolfe O e e
SliEioal <1 |

Briefly explain the various types of
collective bargaining in an industrial
setup. Discuss the es'sential conditions
for successful collective bargaining.
2+8=10
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(d)

(e)

Crapifaiss wifRiceers RS @eix AR v [
BICE IR 1 | 72T AR TamIE A AT
DOITIRA [RAC SN 1 |
Discuss the evolution of industrial
relations in India.
SRS SIifEe A=H RIeR RAw Se=tin
<9I |
Explain the distinct features of the
Industrial Employment (Standing
Orders) Act, 1946. Also discuss the
matters to be presented in the draft
standing orders by the employees.
5+5=10
ol AN (FIRT SN0 W2, S5
FEE @RFBRTR G101 91 | Fsice Heist et
R0 ! SN A6 CoFIo S sl
fRzeTes e et 59l |
Explain the meaning of ‘grievance’. In
the context of industrial relations, -
discuss the appropriate procedure that
can be adopted for grievance handling.

. 2+8=10
eeq Tieifes =% I@iR 1l | Sl A2ike
(2releibe 9od wilfe fHevifes At aize SR #f=]
CAYE Amiod [[ACH AT 1 |

Contd.




(g) Discuss the issue of multiplicity of Trade
Unions in the Indian scenario. Also
explain the provisions for recognition of
Trade Union as guided by the Trade
Unions Act, 1926. 5+5=10

T ARECe (G 2SHA~T I299 K]
I FE1 | S (FU SO B2 ST
B NS (56 28 FIghe M Rz
I F4I

(h) What are the various provisions of safety

of workers under the Factories Act,
1948 ? Explain.

SR ST, S»8vA ST #fii s [y
P e 2 i 5 |
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